Solving Inequalities
O




An inequality 1s like an equation, but
instead of an equal sign (=) 1t has one of
these signs:
. less than
. less than or equal to
. greater than
. greater than or equal to
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“X < 5”

means that whatever value x has,

it must be less than 5.

What could x be?



“X 2 _2”

means that whatever value x has,

it must be greater than or equal to -2.

What could x be?



Graphing Rules

O
Symbol Circle |Direction
of Arrow
< Open Left
> Open Right
< Closed Left
> Closed Right

o
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You Try:




Practice

O







A number added to 5 is greater than 12

The quotient of 2 and a number is at most 6

7 multiplied by a number is less than 16

18 decreased by a number is no less than 12.8

17 is greater than or equal to 8 less than a number



Solving One-Step Inequalities




Solving One-Step Inequalities




Solving One-Step Inequalities

Multiply both

rd by? f the SX =10x5
coefficient 5 \ 5 O
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Solving One-Steo Inequalitles

- S5x> 20

Divide both 5 X

sides by the
coefficient of x >

S > —

x >4



Solving Inequalities!

O

» Solving inequalities is the same as solving equations.

» There are only 2 things you need to know...

© 1.) If you multiply or divide by a negative number you must

switch the sign.
-7X < 21 Dividing by a

7 7 negative means

X > -3 switch the sign!!

© 2.) You will graph your solutions.
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When solving inequalities, if you multiply or
divide by a negative you must switch the signs.

Switching the signs:
Less than becomes Greater than < switches to
Greater than becomes Less than > switches to

Less than or equal to becomes Greater than or equal to

< switches to
Greater than or equal to becomes Less than or equal to

> switches to
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Division Property for Inequalities

Caution! Dividing by a
negative number

—Sx <20

Notice: Sign
CHANGED




Multiplication Property for

Inequalities
Caution! When you
multiply by a negative
number. ..
...the sign
CHANGES
(-5 )-x > 2(-5)
5




Solving One-Step
Inequalities

O




Solving One-Step

Inequalities #1
O

x+6<7




Solving One-Step

Inequalities #2
O

3<x—5




Solving One-Step
Inequalities #3

—3x>-—15




Solving One-Step
Inequalities #4

x—9>-5




Answers g)r #1 - #4

x<l1
8<xorxz28
X<5

x>4




Solving One-Step

Inequalities #5
O




Solving One-Step

Inequalities #6
O




Solving One-Step

Inequalities #7
O

S+x2=>7




Solving One-Step

Inequalities #8
O




Answers for #5 - #8
O

X2-6
21<xorx>21
) P4
x>15




Day 3 Solving Multi-Step Inequalities

O




|
Solving Inequalities

O




Practice

O




Solve:

6Xx — 8 > 22



Practice Problem 1

O




Practice Problem 2

O




Practice Problem 3

O




Practice Problem 4

O




Practice Problem 5

O




Practice Problem 6

O
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